CABLE NOT SHOWN ON THIS
SIDE FOR CLARITY PURPOSES—\

TRAFFIC

[

7

/8" LOCKWAS
5/8" FLAT WASHER
5/8" HEX NUT

SHOWN FOR ILLUSTRATION

PURPOSES ONLY

o o]
o6 o ® 0 0 o ® o b
DO 0O T T T T T T
o o 0 © o 0 0 ® o © 0 ® 0 0 0 & o
=
o o o © 0o 0o o @ o
0 0O 0O 0O 0O 0O T 0O T
o o 0 © o 0 0 ® o
O]

SHOWN FOR ILLUSTRATION
PURPOSES ONLY

2-7 TRAFFIC /—— 4
7
209 1/2"
I
** PLASTIC
NOSEPIECE i | | o = —
= | ] : =15
o { { Ort
— — 1 I !
< W —+— _ _— N —— __i-j__—l—:'—'l'{—) =
T e =
- I T— _Q]-— _—— = —_— = -[gf \—EF— —_-t—1-_—-:-'1:%|-':'/—) _Z
o { { } |
o Iol
!
L
3R] 0,0 D, O __

FOR NOSEPIECE ATTACHMENT:

REMOVE EXISTING 5/8" ¢ BOLTS (4 TOTAL) |

e |

AND RE—INSERT THROUGH NOSEPIECE.

FOUNDATION NOTE:

M-OPTIONAL SPLIT FRAME (33405)

L~ OPTIONAL SPLIT FRAME (33405)

5/8"9 x 6" WEDGE EXP ANCHOR
[ 5 HER

4-10"
WIDER WIDTH CAN BE ACCOMPLISHED
BY USING EXTENSION PANELS AND POSTS

ATTACHMENT SHOWN IS TO SHAPES WITH
RECTANGULAR CROSS SECTIONS SUCH AS:
PIERS, PARAPETS AND MODIFIED CONCRETE
BARRIER. TRAFFIC FLOW IS UNIDIRECTIONAL.

6" REINFORCED CONCRETE PAD IS SHOWN

1'-6" 1'-6" 1-6" 1"-6" | 1"-6"
I I l I I I 1 1 1 1 I 1
2-7 + VARIES PER FRAME EXTENSION
7.0 70"

EACH TRACC UNIT SHIPS 100 % ASSEMBLED

(PLASTIC NOSE INSTALLED AFTER PLACEMENT)

: FILLER HIT HY 150 (FILLER TUBE)

REINFORCED CONCRETE PAD 6" THICK
(8" THICK IF NOT REINFORCED)

REINFORCEMENT DRAWINGS FOR THIS

PAD AND OTHER SIZES ARE AVAILABLE.

|
-

OTHER OPTIONS ARE :
) 8" THICK MINIMUM UNREINFORCED CONCRETE

b) 8" MINIMUM THICK ASPHALT

c) 3" THICK (MIN) ASPHALT OVER 3" (MIN) CONCRETE
d) 6" THICK ASPHALT OVER 6" COMPACTED SUBBASE.

-@-ﬁ
|

8
L _o_m_m oo
oo .

| -
,-3-.;-4

ADHESIVE ANCHORED

* 5/8"¢ x 7 1/16" ANCHOR STUD
5/8" FLAT WASHER
5/8" LOCKWASHER

" ADHESIVE ANCHORED

L -

#5/8°9 x 7 1/16” ANCHOR STUD
5/8" FLAT WASHER

5/8" LOCKWASHER
5/8" HEX NUT

WIDE TRACC BILL OF MATERIAL
PRODUCTH qry DESCRIPTION
CODE % EACH CARTRIDGE INCLUDES 1 EACH : MIXER HY 150 CARTDIDGE(NOZZLE)
25939A 1 [58" WIDETRACC UNIT ASSLY [
6825B| 4 |REFLECTIVE TAPE
65328 1 |PLASTIC NOSEPEICE
+ ANCHOR HARDWARE (CONCRETE BASE)
52048 | 50 |5/8°¢ x 7 1/16" ANCHOR STUD
OPTIONAL TRACC ANCHOR ITEMS ;;:s?g gg g;g hfé(;(Km?HER
PR(%JECT DESCRIPTION 33006 | 50 |5/8" FLAT WASHER
52058 | ADHESIVE DISPENSER Y| 52068 | 4 |ADHESIVE HIT HY150(CARTRIDGE)
52078 | MIXER HIT HY150 (NOZZLE)
52088 | FILLER HIT HY150 (FILLER TUBE) * ANCHOR HARDWARE (ASPHALT BASE)
5209B | BIT TE-C+ 11/16-18 (11/16" ¢ BIT) 6380G | 50 |5/8°8 x 18" ALL THD ROD
33106 | 50 |5/8" LOCKWASHER
3361G | 50 |5/8" HEX NUT
33006 | 50 |5/8" FLAT WASHER
Y| 52068 | 11 |ADHESIVE HIT HY150{CARTRIDGE)

* SEE PRODUCT MANUAL

5/8" HEX NUT

B _ Sy
9 3/4" : 9 3/4"
| 2-0"
40
SECTION "A=A"

SECTION "B-B”

REMARKS

”

58" WIDETRACC DOUBLE FLARE
CRASH-CUSHION ATTENUATING TERMINAL
PLAN, ELEVATION & SECTIONS
(UNIDIRECTIONAL, DIRECT ATTACHMENT)

DRAWN LH.

CHECKED  (.C.

APPROVED

DATE 08-12-05

COPYRIGHT © 2005 TRINITY INDUSTRIES INC

This drawing and the information shown thereon is the sole property of TRINITY
INDUSTRIES, INC. Neither the drawing nor such information is to be used for
any purpose other than that for which it was specifically fumished by TRINITY
INDUSTRIES, INC., nor is any reproduction authorized without written permission.

Py R TRINITY INDUSTRIES, INC.

‘ ' HIGHWAY SAFETY PRODUCTS

2525 STEMMONS FREEWAY, DALLAS, TX 75207

ENG. FILE # S51019-01E

$iNo. E1 OF 1

DRAWNG NO.

SS1019





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


